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Draw a line fo match each problem with the same answer.
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(' word root junct can mean join conjunction, junction )
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" Find the missing numbers. These both have the same rule. What is the rule? |
If If
1,1=1 7.7=49
2,2=4 8.8 =064
3.3=9 9.9 =8
. 4=16 10,10 =100
Then Then
5,5=7 n,n=2
\. )

f Complete each pattern. Write what the rule is.

522|464 |H0.6
3H8 | 29
74 | 16
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Cross off the number that does NOT belong.

(123,966,280,704) , (8,834,734,336), (2,509,637,916) ,
(632481024) , (U5,177,216) , (3,226,944), (230496),
(16H64) , (1176), (84)

Why does not belong in the pattern?

Cross off the number that does NOT belong.

31, 32, 33, 34, 37,41, 46, 52, 59, 67, 76, 86, 97,109, 122

Why does not belong in the pattern?
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It was such
pandemonium! There
were books stacked
everywhere in the new
bookstore. David finally
found the book he
wanted at the bottom
of the stack. He gave
the clerk a 20-dollar bill.
If the price of the book
was $15.88, how much
change did he get?

Nathan was bored. He
went outside fo find
something to do. His
mother was planting
flowers. Nathan offered
to help her. They
planted flowers from
245 p.m. until 5:03 p.m.
They talkked and had a
good time together.
How long did Nathan
and his mother work
together?

There were 16,108
weddings in Springs City
last year. According to
state records, notaries
public performed H% of
the weddings. How
many weddings were
not performed by
notaries public?

How many pounds are in 112 ounces?

pounds

13,859 + 4,332 =

Which is the better buy? Five
bags of candy for $10 or nine
bags of candy for $81?

Write the missing family fact.

308 +11=28
308 =28 =1
28 x 11 =308

Rewrite these in increasing order of length:

HO9 km, 505 cm, 325 dm, 818 mm, 25 m

being seven?

Jessica rolls two dice. She adds
the numbers on the two dice.
What is the chance of this sum
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word root endo can mean within

Name:
The number 47/4 is a palindrome. Any Circle the digit in the tenths place.
number which reads the same in both
directions is a palindrome number. 36.742
Jenna is thinking of a palindrome number.
The number has 4 digits. Q21 35
The number is less than 9,000. _5U54 20
The digits, 82, are a part of the number in —_— —
this exact order.
The number is greater than 8,000.
The sum of the first three digits in the
number is 12.
What is her number?
1o =16 0z
_ 34 -g=
0x2= +37 2o = oz 248+
April rolls two dice. What is Can 384 be evenly divided by 3? Circle:
the chance of her roling a5 384 is evenly divisible by 3
on one die and a 3 on the _ o
other die? 384 is NOT evenly divisible by 3
27 cm = mm
Circle the greatest number: Emma is younger than Anna. Hannah is
917482.356 older than Emma. Who's the oldest?
9,210,746,583
20491
3,687

endoskeleton, endoscope
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Can you draw ONE line going through ALL the circles? Your line can go left, right,
up, or down. It cannot go diagonally. Your line cannot cross over any part of
the line you have already drawn.

CD You MUST TURN in a BLACK circle. Do NOT TURN in a WHITE circle.

D
D
. J

The puzzle on the left shows a correct line going through all the circles.

D
D

Finish the line: Finish the line:

O @ o
6 O
D o O Q)

O
O
O
¢

O o

63,925 + 72,995 = 2+2=

N W

o1 F
O

3x12 =

5l + 9 =

U2 +7 =
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6 el e 8 eS8

70=050x000+o+020800060|-|070

e 0O e Q

Use the pieces above to help you fill in the runaway math puzzle.

2
0 5| X 315
6 | X =130 +
5 3 +
9 3|1=1|3 3 2 1=
= 9 =
91+ 7 7
X
X|4]1=]13]|6
= 8
= 1(16|+ =14
4 2 1
0]x =10 =
8|+ =11
X7 = 832 + 378 = 9x10 =
Megan is a family friend. She will be picking you up from
school and driving you to the closest library. Where should 3xb6=

she go? Write instructions fo explain how she could get
there and where you will be going.

word root ultra can mean beyond ultraviolet, ultrasonic
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Puzzle: Work Area:
N 6L |7 || u 6 "
6 || ||| B2 6 52
6 || N[ 4|39 6 39

Paced

o 1| W 11
o )|\ || u8 ug

] <]

39|50 |40 |44 | U8 | == 39|50 4O |44 | U8 | =+

The sum for each column = G — i:F =
and row is given. .
@ = ;\ = Ef =

Write as a decimal.

Eight tenths Write as a decimal. Write as a decimal.
8 3
00 0
6+ (04 +8)-30+5= Rewrite in scientific notation.
Simplify.
36 = 970,900,000

60
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Make a path by adding up the numbers. Do not visit a circle more than once. The first one is done.

START

SUOIC)

OIOIONC)
ﬁ

()
+
o
+
+
+

8+ 4 + 3 + 6 + 92 + 5 + 62
2 +5 =42

OIOIOIC)
OIOIOIO
QIOIOIO

Did you find a path? Write the equation.

Q+ 9 + 7 + + + +
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e 7 e =e0ebele5 e8e Q2 eDe3e+~e8e8e =¢e¢exeb5
7 ¢ 2 ¢ = o U
Use the pieces above to help you fill in the runaway math puzzle.
0
1)1 21=11]+
7]Xx =1419 6
2|1x|8 116
1] [=]4]= 0 6
X =
= O[+[3[+|[O0f= 1
T Tel4]=]| |=
3 + +
7 5[=[3(5 9
7 4(x = 8
21+]2 4
5 ~[6[=(9
Use >, <, or = fo complete. Each side of a regular (0.8)(0.1)
pentagon is 58.7
36% __ % centimeters. What is the
perimeter?
37% %
1 __ 6%
What is the mode of the The letter p is used to 16t - 27.9 = 521
following number set? represent power points in
a game, which can range t=
80, 81,78,77,76,67,82,73, from 622 to 958 points.

72,83,75,69, 74,70, 84,79 Express this as an inequality.
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Draw 3 pictures in the correct order. Use each of the clues so you will know what to draw.

A A=

'Draw 1 of these 3 pictures. I Draw 1 of these 3 pictures.
'The picture IS in the correct spot. :_The picture IS in the correct spot.

Yy woH§

'Draw 1 of these 3 pictures. ' Draw 2 of these 3 pictures.
'The picture is NOT in the correct spot. ! _The pictures to use are in the correct spot

O.______JL

Draw the 3 pictures in the correct order:

Draw 4 pictures in the correct order. Use each of the clues so you will know what to draw.

I Draw 1 of ’rhese H plcfures o
' The picture 1S in the correct spot.

'Draw 1 of these U pictures.
\The picture is NOT in the correct spot.

1
I Draw 1 of these U pictures.
| The picture IS in the correct spot.

IDraw 1 of these Y pictures.
\The picture IS in the correct spot.

! Drow 3 of these U pictures.

'Draw 1 of these '-l plc’rures
. None of those pictures are in the correct spbt.

\The picture IS in the correct spot.
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N =44 || £L< 898
T 77204 | Ao don
— J7A-A077
- ad = U Qax a
- nd A= 8 58 -

Did you find that two are true? If not, look again!
Hint: If you see the same pieces on both sides, you might need to remove both pieces.
You should only mark TRUE if you are absolutely sure it is correctl

( word root cede can mean yield or go accede, secede )
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Write the final part of each math analogy.
e N
nine dimes and seven pennies : $0.97 : two dimes and three pennies :
Explain why you think your answer is correct.
\. )
4 A
1862 : 2000 = 5221 :
Explain why you think your answer is correct.
\. J
~ N
Htens : HO = M hundreds :
Explain why you think your answer is correct.
\. )
4 A
bornin 2015 : 3 candles on birthday cake in 2018 = bornin 2010 :
Explain why you think your answer is correct.
\. J
~ N
two thirds of nine : 6 = one third of six :
Explain why you think your answer is correct.
\. )
4 A
3+13=16:16-3=3 :4+15=19:
Explain why you think your answer is correct.
\. /
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.
Example: Example:
291+26+85+52 =454 52+26+203+85=366

T

21| U5 |26| 289 |52 366 |26

is the sum is the sum is the sum
I B B et

Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 20.3, 284, or 29.1.

The other three numbers have to all be DIFFERENT and must be from these: 0.8, 5.2,
2.6, 6.8, 3.9, or 8.5.

68 0.8 68
‘ ‘ less than 3.9 ‘ ‘ \

08| 452 |85 39| 38.3 48.9 | 284

oL

145.2 46.3 8.9

either 201 or 6.8 either 216 or 29.1 less thpn 284 less thian 29.1
even even less than 6.8

40.8 382

greater than 0.8 od

Sameple:
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Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 27.2, 16.1, or 14.2.

The other three numbers have to all be DIFFERENT and must be from these: 1.7, 9.2,
75,54, 04, or 2.3.

(U T E TY T 9]

75 374 23| 28 (o4 255 [H2| 18.6

less than 16.1
o4
greater than 9.2 less than 54 either 7.5 or 2.3

18.6 30.7 61| 28 |92

less than 4.2 eyen greater| than 54
greater than 1.7 either 54 or 7.5 even

32.6 1.8 1.8 374
ofdd

less thpn 27.2 opd greater|than 2.3 less than 54
either 1.7 or 42 | greater than O4 odd odd

43.5 36.6 18.6 36.8

opd ofd
odd

43.5 45.6

oEd oEd greo’re1 than 1.7 \

either 27.2 or 1.7

N eyen

greater than 1.7 | either 1.7 or 9.2
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Where can
I get more of this
great stuff?

More things for

IS ) the classroom!

More
science\.
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” Take The Boring

. Out Of Homework!/ <

L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




